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Question Id : 2274279010 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)

Question Label : Comprehension

The following table shows the percentage (%) distribution of the number of candidates (Boys and Girls) and the number of boys who
appeared in an entrance examination from six different cities A= F. A total of 78000 candidates appeared from all the six cities, in

Online
Mandatory
42

42

100

Yes

0

1
227427353
Yes

null

which the number of boys was 24000, Based on the data in the table, answer the questions that follow.

City-wise Detals of Candidates who appeared in an exam.

i Percentage Distribution

“|Candidates who appeared in the Exam|Boys who Appeared in the Exam
A |1T% 3%

B [13.5% 20%

C |15% 17

0 |20% 10%

E 6.3% A

F(26% %

Sub questions



Question Number : 1 Question Id : 2274279011 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

What is the total number of girls who appeared from City A?

6420
. 6880
. 7300
7740

L s

o

Options:

22742735101. 1
22742735102. 2
22742735103. 3
22742735104. 4

Question Number : 2 Question Id : 2274279012 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

What is the difference between the number of boys and the number of girls who appeared in the exam from City E?

1. 3450

2.3500

3. 3550

43650

Options:
22742735105. 1
22742735106. 2
22742735107. 3

22742735108. 4

Question Number : 3 Question Id : 2274279013 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Number of girls who appeared from City C is approximately % of the number of candidates who appeared from City D.

Options :

227427351009. 1
22742735110. 2
22742735111.3

22742735112. 4

Question Number : 4 Question Id : 2274279014 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Number of boys who appeared from City A is % more than that from City B

Options:

22742735113 1
22742735114. 2
22742735115.3

22742735116. 4

Question Number : 5 Question Id : 2274279015 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 2 Wrong Marks : 0

Number of girls who appeared from City F is approximately % of the number of girls who appeared from all the six cities together

Options :

22742735117. 1
22742735118. 2
22742735119.3

22742735120. 4

Question Id : 2274279010 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (1 to 5)

Question Label : Comprehension
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A 1T% 2%

B |13.5% 20%

C 1% 1%

D [20% 10%

E 6.5% %

F26% oh

Sub questions

Question Number : 1 Question Id : 2274279011 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

TR A Y lien ¥ Iuiq aifaarsl & oo 91 foa-l 82

1. 6420
2. 6880
3. 7300
4 7740

Options :

22742735101. 1
22742735102. 2
22742735103. 3



22742735104. 4

Question Number : 2 Question Id : 2274279012 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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1. 3450

2.3500

33550

4 3650
Options :
22742735105. 1
22742735106. 2
22742735107. 3

22742735108. 4

Question Number : 3 Question Id : 2274279013 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742735109. 1
22742735110. 2
22742735111. 3

22742735112. 4



Question Number : 4 Question Id : 2274279014 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742735113. 1
22742735114. 2
22742735115. 3
22742735116. 4

Question Number : 5 Question Id : 2274279015 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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1.31.55

2.3255

3.3355

4 3455

Options:
22742735117. 1
22742735118. 2
22742735119. 3

22742735120. 4

Sub-Section Number : 2



Sub-Section Id : 227427354
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 6 Question Id : 2274279016 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

The learning, in which a new behaviour is acquired but is not demonstrated until reinforcement is provided, is known as

1. Observational learning
2. Social leamning

3. Latent leaming

4 Moral learning
Options :
22742735121.1
22742735122. 2
22742735123. 3

22742735124. 4

Question Number : 6 Question Id : 2274279016 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:
22742735121. 1
22742735122. 2



22742735123. 3
22742735124. 4

Question Number : 7 Question Id : 2274279017 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Ateacher wants to assess the student's performance and wants to give immediate feedback. Which software you will select for the assessment?
A Kahoot

B. Plotagon

C. Screen-casto-matic

D. Animaker

E. Quizziz

Choose the correct answer from the options given below:

1. A, Band D only

2.C Dand E only

3. Band C only

4 Aand E only
Options:
22742735125. 1
22742735126. 2
22742735127.3

22742735128. 4

Question Number : 7 Question Id : 2274279017 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742735125. 1
22742735126. 2
22742735127.3

22742735128. 4

Question Number : 8 Question Id : 2274279018 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

(iven below are fwo statements:

Statement (|): As par Dewey's vision of leaming, learners should demonstrate their knowledge through creativity and collaboration.
Statement (Il): According to Piaget, learning is Independent of the developmental stages of leamer.

In light of the ahove statements, choose the most appropriate answer from the options given below,

1. Both Statement (1) and Statement (Il) are correct

2. Both Statement (1) and Statement (I1) are incorrect.
3. Statement (1) is correct but Statement (1) 1s incorrect.
4 Statement (1) is incorrect but Statement (II) is correct.

Options:

22742735129.1



22742735130. 2
22742735131. 3

22742735132. 4

Question Number : 8 Question Id : 2274279018 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:
22742735129. 1
22742735130. 2
22742735131. 3

22742735132. 4

Question Number : 9 Question Id : 2274279019 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements:
Statement (I): The non-directive model of teaching nurtures students rather than controlling the sequence of [earning.

Statement (11}: In the non-directive model of teaching the teacher's role is that of a facilitator who has counseling refationship with students and
who quides their growth and development.

In ight of the above statements, choose the most appropriate answer from the options given below.

1. Both Statement (1) and Statement (1) are correct

2. Both Statement (1) and Statement (1l) are incorrect.
3. Statement (1) is correct but Statement (II) is incomect
4 Statement (1) is incomect but Statement (Il is comect

Options :

22742735133 1
22742735134. 2
22742735135.3
22742735136. 4

Question Number : 9 Question Id : 2274279019 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742735133. 1
22742735134. 2
22742735135.3

22742735136. 4



Question Number : 10 Question Id : 2274279020 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

In Charlotte Danielson’s framework for teaching, the domain of ‘Planning and Preparation” has the following components:
A. Organising physical space in classroom

B. Setting instructional outcomes

C. Designing student assessments

D. Demonstrating knowledge of content and pedagogy

E. Demonstrating knowledge of resources

Choose the correct answer from the options given below:

1.Cand E only

2.A BandD only
3.B,C, D and E only
4ABCDandE

Options:

22742735137. 1
22742735138. 2
22742735139. 3
22742735140. 4

Question Number : 10 Question Id : 2274279020 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742735137. 1
22742735138. 2
22742735139.3

22742735140. 4

Question Number : 11 Question Id : 2274279021 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Quantitative research can be construed as a research strategy that usually

1. Entails a deductive approach to the relationship between theory and research.

2. Emphasizes an inductive approach to the relationship between theory and research.

3. Rejects the practices and norms of natural scientific model, and of positivism in particular.

4 Embodies a view of social reality as a constantly shifting emergent property of individual’s creation.
Options:

22742735141. 1

22742735142. 2

22742735143. 3



22742735144. 4

Question Number : 11 Question Id : 2274279021 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742735141. 1
22742735142, 2
22742735143. 3

22742735144. 4

Question Number : 12 Question Id : 2274279022 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements:

Statement (1): Qualitative research lays emphasis on contextual understanding.

Statement (I1): Quantitative research is typically highly unstructured.

In light of the above statements, choose the most appropriate answer from the options given below.

1. Both Statement (1) and Statement (I) are correct.

2. Both Statement (1) and Statement (Il) are incorrect.
3. Statement (1) is correct but Statement (I} is incorrect.
4 Statement (1) is incorrect but Statement (Il) is correct.

Options :

22742735145. 1



22742735146. 2
22742735147. 3

22742735148. 4

Question Number : 12 Question Id : 2274279022 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742735145, 1

22742735146. 2

22742735147. 3

22742735148. 4

Question Number : 13 Question Id : 2274279023 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

In academic writing, the abbreviation ‘fn_," Is used to represent

1. forenoon

2. footnote

3. Forward page number
4 Following page number



Options :

22742735149. 1
22742735150. 2
22742735151. 3

22742735152. 4

Question Number : 13 Question Id : 2274279023 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742735149. 1
22742735150. 2
22742735151.3

22742735152. 4

Question Number : 14 Question Id : 2274279024 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

The mean and standard deviation of 75 observations are 45 and 10, respectively. If 2 i added to each observation, the new mean and standard
deviation will be

1.47 12
24714
3470
446,12



Options :

22742735153. 1
22742735154, 2
22742735155, 3

22742735156. 4

Question Number : 14 Question Id : 2274279024 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

75 YAfuT 169 § FIh faacrd - 45 10 31 9% e Ve # 2 91 G o e o, t 1l A0 feet g

1.47 12

24714

3.47.10

4 46,12
Options :
22742735153. 1
22742735154. 2
22742735155. 3

22742735156. 4

Question Number : 15 Question Id : 2274279025 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Avariable that has a causal impact on another variable, is called

1. Dependent vanable
2. Independent variable
3. Confounding variable
4 Extraneous variable

Options :

22742735157.1



22742735158. 2
22742735159. 3

22742735160. 4

Question Number : 15 Question Id : 2274279025 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:
22742735157. 1
22742735158. 2
22742735159, 3

22742735160. 4

Question Number : 16 Question Id : 2274279026 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

From the communication viewpoint, a completely predictable situation is considered to have

. Less fidelity

- Negentropy

. Fluidity

. Less sensitivity

[ N

e

Options :
22742735161. 1
22742735162. 2

22742735163. 3



22742735164. 4

Question Number : 16 Question Id : 2274279026 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :
22742735161. 1
22742735162. 2
22742735163. 3

22742735164. 4

Question Number : 17 Question Id : 2274279027 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The concept of framing is used to tailor political issues in election campaigns as part of communication strategy by

1. Media audience

2. Security agencies

3. The Election Commission
4. The Spin doctors
Options :
22742735165. 1
22742735166. 2
22742735167.3

22742735168. 4



Question Number : 17 Question Id : 2274279027 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :
22742735165. 1
22742735166. 2
22742735167. 3

22742735168. 4

Question Number : 18 Question Id : 2274279028 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following are identified as roles of non-verbal communication in relation to verbal communication?
A Accentuation

B. Supervision

C. Repetition

D. Substitution

E. Contradiction

Choose the correct answer from the options given below:

1.A Band Conly
2.B,C, DandE only
3.A C DandE only
4 A BandE only

Options :



22742735169. 1
22742735170. 2
22742735171.3

22742735172. 4

Question Number : 18 Question Id : 2274279028 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :
22742735169. 1
22742735170. 2
22742735171. 3

22742735172. 4

Question Number : 19 Question Id : 2274279029 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Which of the following are the examples of explicit meta communication?
A. Silent remorse

B. Avoidance of eye contact

C. Apologies

D. Excuses

E. Explanations

Choose the correct answer from the options given below:

1. A, B and C only
2. B, CandD only
3. C,Dand E only
4 A B andE only

Options :

22742735173. 1
22742735174. 2
22742735175. 3
22742735176. 4

Question Number : 19 Question Id : 2274279029 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

227427351731
22742735174. 2
22742735175.3
22742735176. 4

Question Number : 20 Question Id : 2274279030 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements:

Statement (|): Buddhists consider the language of communication as a divine gift

Statement (Il): Buddhists are of the view that the language for communication evolves according to social contexts and conditions.
In light of the ahove statements, choose the most appropriate answer from the options given below.

1. Both Statement (1) and Statement (1) are true.
2. Both Statement (1) and Statement (1) are false.
3. Statement (1) is true but Statement (II) is false.
4 Statement (1) is false but Statement (1) is true.

Options:



22742735177.1
22742735178. 2
22742735179. 3

22742735180. 4

Question Number : 20 Question Id : 2274279030 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :
227427351771
22742735178. 2
22742735179. 3

22742735180. 4

Question Number : 21 Question Id : 2274279031 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Consider the following number series:1, 3, 7, 15, 31, 7.

ldentify the missing number (?) from the options given below:

[
o B e T o B -
i B L B

i
£

Options :

22742735181. 1
22742735182. 2
22742735183.3
22742735184. 4

Question Number : 21 Question Id : 2274279031 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

9 3@ e R AR PIfeE 1, 3, 7, 15, 31, 2, ...

1y fasedl O 4 qw 9= () 31 UgdH SIS
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e
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Options:

22742735181. 1
22742735182. 2
22742735183.3

22742735184. 4

Question Number : 22 Question Id : 2274279032 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 2 Wrong Marks : 0

Consider the following letter series AA BD, CI, DP. ?, ...
The next term (?) in the series is

1.ES

2 BN

3 EY

4 EB
Options :
22742735185. 1
22742735186. 2
22742735187. 3

22742735188. 4

Question Number : 22 Question Id : 2274279032 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

19 31&R 4@o R fd9R Ifel :AA BD, CI,DP, ?, ...
39 4RGa H 3T UG (?) DI F 512

1 ES

2. BV

2EY

4 EB
Options:
22742735185. 1
22742735186. 2
22742735187.3

22742735188. 4

Question Number : 23 Question Id : 2274279033 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Asum of Rs. 10,000.00 (ten thousand) is invested at rate of interest 6% per annum compounded half yearly. What will be the maturity amount
1% years?

1. Rs 11248 64

2. Rs 10816.20

3. Rs 1120000

4 Rs 10108.64
Options :
22742735189. 1
22742735190. 2
22742735191.3

22742735192. 4

Question Number : 23 Question Id : 2274279033 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

310,000 (GH 59N B IR BT 8% TG 3 o0 X W 1 Wi SHIG) Salea g, (70 o 7 51 1% % ¥ owen IR feoet gl

1.311248 64
2.310816.20
331120000

4 31010664
Options :
22742735189. 1
22742735190. 2
22742735191. 3

22742735192. 4

Question Number : 24 Question Id : 2274279034 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

In an organisation, there are a total of 40 employees consisting of 5 Executive officers, 15 Senior Staff and 20 Junior staff, The monthly salaries
of an Executive officer, a Senior staff and a Junior staff are £ 250,000, % 80,000 and % 45,000 respectively. What is the average salary of an
employee of the organisation?

1.31,20000
2390250
3362750
4363750

Options :

22742735193. 1
22742735194. 2
22742735195. 3

22742735196. 4

Question Number : 24 Question Id : 2274279034 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

T v o 5 el et 15 g e @ 20 g T @ el o 40 i | 0 ot o) Ry em A W@
I 6 O AT 4 BT % 250,000, % 80,000 &R 2 45,000 1 TG & o a i ded el &

1.1,20,000
2,390,240
3382740
4383730

Options :

22742735193. 1
22742735194, 2
22742735195. 3

22742735196. 4

Question Number : 25 Question Id : 2274279035 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

Atrain running at a speed of 90 km/hr starts slowing down at a constant rate of decrease in spead of 2.5 m/s. What s the distance covered by
the train before it comes fo a halt?

1.500m

2750m

3.250m

4125m,

Options :
22742735197. 1
22742735198. 2
22742735199. 3

22742735200. 4

Question Number : 25 Question Id : 2274279035 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

00 for 7 e 1 f W el g5 U el 2.5 T /A ) i X A 1T 0 R e g1 TIG) Sebed o fabekd g UR X e

1.500 91

27504

32504

4159

Options :
22742735197. 1
22742735198, 2
22742735199. 3

22742735200. 4

Question Number : 26 Question Id : 2274279036 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 2 Wrong Marks : 0

Which of the following propositions are so related that they cannot both be false although they may both be true, as par square of opposition?
A Some apes are monkeys.

B All apes are monkeys.

(. Some apes are not monkeys

D No apes are monkeys

Choose the corect answer from the options given below:

1.Band D only
2 Aand B only
3 Aand C only
4 G and D only

Options :

22742735201. 1
22742735202. 2
22742735203. 3

22742735204. 4

Question Number : 26 Question Id : 2274279036 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :
22742735201. 1
22742735202. 2
22742735203. 3

22742735204. 4

Question Number : 27 Question Id : 2274279037 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Which of the following statements are logically equivalent?
A. Some apes are not non-monkeys.

B. Some monkeys are not non-apes.

C. Some monkeys are apes.

D. Some apes are monkeys.

Choose the correct answer from the options given below:

1. Aand B only

2. Cand D only

3. B, Cand D only
4 AB,CandD

Options :

22742735205. 1
22742735206. 2
22742735207. 3
22742735208. 4

Question Number : 27 Question Id : 2274279037 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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4 ABC3RD
Options :
22742735205. 1
22742735206. 2
22742735207. 3

22742735208. 4

Question Number : 28 Question Id : 2274279038 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



As per square of opposttion, if the statemeant - “Some birds are apes” is given as false, then which of the following statements can be
immediately inferred to be frue?

A All birds are apes.

B. Some birds are apes.

C. No birds are apes.

D. Al birds &re not apes

Choose the correct answer from the options given below:

1.Cand D only
2.A Cand D only
3. Band D only
4. Band G only

Options :

227427352009. 1
22742735210. 2
22742735211.3

22742735212. 4

Question Number : 28 Question Id : 2274279038 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :
227427352009. 1
22742735210. 2
22742735211. 3

22742735212. 4

Question Number : 29 Question Id : 2274279039 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

“Itis 50 0bvious that this world was created by an intelligent God. Just look at the amazing deqree of organization that the world displays.” Which
fallacy is committad in this argument?

1. Fallacy of composttion
2. Begging the Question
3. Straw man

4 False Cause

Options:

22742735213. 1
22742735214. 2
22742735215.3

22742735216. 4



Question Number : 29 Question Id : 2274279039 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:
22742735213, 1
22742735214, 2
22742735215, 3

22742735216. 4

Question Number : 30 Question Id : 2274279040 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements, one Is [abelled as Assertion (A) and other one [abelled as Reason (R).

Assertion (A] - As per classical Indian view of logic the argument - ‘Sound is quality because itis visible', is fallacious

Reason (R) : As per classical Indian view of logic the argument- "Sound is quality because it is visible” involves a middle term that cannot by its
very nature be present in the minor term.

In ight of the ahove statements, choose the comect answer from the options given below.

1. Both (A) and (R) are true and (R) is the carrect explanation of (A)

2 Both (A) and (R) are true but (R) s NOT the comect explanation of (A).
3 (A) 15 true but (R) Is false.

4 (A) s false but (R) 1s true.

Options :

22742735217.1



22742735218. 2
22742735219. 3

22742735220. 4

Question Number : 30 Question Id : 2274279040 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742735217. 1

22742735218. 2

22742735219. 3

22742735220. 4

Question Number : 31 Question Id : 2274279041 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Alisha has agreed to send Khushi a 20-megabyte file. They both have a broadband Internet connection. Alisha has to upload her file to a server
and then Khushi needs to download it from the same server. The broadband data fransfer rates (speeds) are: 1 megabit per second to upload a
file and 8 megabits per second to download a file.If P and Q represent the time taken in seconds to upload and download Alisha’s file
respectively then (P Q) =

Options :

22742735221. 1
22742735222. 2
22742735223.3

22742735224. 4

Question Number : 31 Question Id : 2274279041 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
e e O 20 AT T o R e B 6 G 3 U1 A ek ¢ | T 1 T e R R WIS & € 999 U
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Options:

22742735221. 1
22742735222. 2
22742735223.3

22742735224. 4

Question Number : 32 Question Id : 2274279042 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Identify the corract order of the terms A-E to complete the following paragraph about computer devices and technology

An__ allows a user to write on a surface using & pen, and the text and drawings can then be captured and stored for later use. An
printer produces a hard copy of & document using and piezoelectric technalogy. A Drinter uses & drum, and
positive and negative charges, o produce a hard copy of & document

A. inkjet

B. interactive whiteboard

C. laser

D. rofating

E thermal bubble

Choose the corract answer from the options given below:

1.B,EADC
2BAECD
JABECD
4ED,CBA

Options :

22742735225. 1
22742735226. 2
22742735227. 3

22742735228. 4

Question Number : 32 Question Id : 2274279042 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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1.B,EADC
2BAECD
JABECD
4ED,CBA

Options :

22742735225. 1
22742735226. 2
22742735227. 3
22742735228. 4

Question Number : 33 Question Id : 2274279043 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



(iven below are two statements:

Statement (I): An output device that creates an abject by building layer upon player of material s called 3D printer. [t is widely used in CAD
applications.

Statement (1l): Laptops can be used aven when not plugged into an electricity socket
In ight of the above statements, choose the most appropriate answer from the options given below.

1. Both Statement (1) and Statement (1) are true.
2. Both Statement (1) and Statement (11) are false.
3. Statement (1) is true but Statement (1) s false.
4 Statement (1) is false but Statement (1) is true.

Options :

22742735229. 1
22742735230. 2
22742735231.3

22742735232. 4

Question Number : 33 Question Id : 2274279043 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Ty FARTWE

4 | - e T ) R R R ) o e 1 9 e i 9 0 9 7R g e ¢ 0 O Ao S 4 0
S 6 o o g

2 | - O b § 8 3 R 0 10Ty & T o o e 5|
TR B B T & T T 190 i

1 T 3R R 9

) 3R | 3 o

3 O | T 2, Wi 9 11 9
4 T | 9908, e 9 11 90 3

Options:
22742735229. 1



22742735230. 2
22742735231. 3

22742735232. 4

Question Number : 34 Question Id : 2274279044 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

A computer uses RAM and ROM to store data. Which of the following statements describing ROM is/are true?
A It stores the programs and data that are currently in use.

B. Itis used to boot up the computer when power is turned on

C. Its contents are retained when power is turned off.

Choose the correct answer from the options given below:

1. Aonly

2. B only

J. Aand B only

4. B and C only
Options:
22742735233. 1
22742735234, 2
22742735235. 3

22742735236. 4

Question Number : 34 Question Id : 2274279044 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742735233, 1
22742735234. 2
22742735235.3

22742735236. 4

Question Number : 35 Question Id : 2274279045 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Match List- with List-1I

List| Listll

(Internet Term) |(Definition)

A HTTP I. A unique address given to a device on a network. It is provided by the manufacturer.
B. URL Il. The main protocol that govems the transmission of data using the Internet.

C. MAC address|lll. An address given to each device on a network. It is provided by the network.

D. IP address  |IV. The website address that is typed into the address bar.

Choose the correct answer from the options given below

1A-ILB-IV,C-1.D-1
2A-ILB-IV,C-1,D-Il
3A-1,B=-IILC-I,D-IV
4 A-IV,B-Il,C—-1, D-1lI



Options :

22742735237. 1
22742735238. 2
22742735239. 3
22742735240. 4

Question Number : 35 Question Id : 2274279045 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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1A-ILB-IV.C—-I1.D-1
2A-I,B-IV,C-1,D-1
JA-LLB-IILC-I,D-IV
4 A-IV,B-1I,C-1,D-1l
Options :

22742735237. 1
22742735238. 2
22742735239. 3

22742735240. 4

Question Number : 36 Question Id : 2274279046 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements:

Statement (I): Exposure to mercury can be either through food chain or in the work place.

Statement (I1): Poisoning by inorganic mercury (particularly vapours) results in the damage to the central nervous system.
In light of the above statements, choose the most appropriate answer from the options given below.

1. Both Statement (1) and Statement (I1) are true.
2. Both Statement (1) and Statement (1) are false.
3. Statement (1) is true but Statement (II) is false.
4 Statement (1) is false but Statement (Il) is true.

Options :

22742735241. 1
22742735242. 2
22742735243.3
22742735244. 4

Question Number : 36 Question Id : 2274279046 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options:
22742735241. 1
22742735242. 2

22742735243. 3



22742735244. 4

Question Number : 37 Question Id : 2274279047 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements:

Statement (1): Kyoto protocol only binds developed countries and places heavier burden on them.

Statement (I1): Kyoto protocol has nothing to do with United Nations Framework Convention on climate change (UNFCCC).
In light of the above statements, choose the most appropriate answer from the options given below

1. Both Statement (1) and Statement (11) are true.
2. Both Statement (1) and Statement (II) are false.
3. Statement (1) is frue but Statement (11) Is false.
4 Statement (1) is false but Statement (1) is true

Options :

22742735245. 1
22742735246. 2
22742735247. 3

22742735248. 4

Question Number : 37 Question Id : 2274279047 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742735245, 1
22742735246. 2
22742735247.3

22742735248. 4

Question Number : 38 Question Id : 2274279048 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Match List-| with List-l|

List | List Il
Water Category (pH Value

A, Mormal Water [lL.=5

B. Rain water =7
C. Acid Rain Water|lll. 5 -6
0. Ocean Water [IV. 7

Choose the correct answer from the options given below

1LA-WB-L,C-Illl,D-1l
2A-WB-IIlLC-I,D-1
JA-WB-IlLC-II,D-I
4 A-lLB-Il,C-IV,D-I

Options :



22742735249. 1
22742735250. 2
22742735251. 3

22742735252. 4

Question Number : 38 Question Id : 2274279048 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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1LA-IVB-I,C-1ILD-1
2A-IVB-IILC-1,D-1
3A-IVB-Ill,C-l D-
4 A-lLB-IILC-IV,D-1
Options :

22742735249. 1
22742735250. 2
22742735251.3

22742735252. 4

Question Number : 39 Question Id : 2274279049 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



| eachates are

1. Persistent Organic Pollutants

2. Algae found on eutrophic lakes

3. Ozone depleting substances

4. Contaminated liquid draining from landfills.

Options :

22742735253. 1
22742735254. 2
22742735255. 3

22742735256. 4

Question Number : 39 Question Id : 2274279049 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742735253. 1
22742735254, 2
22742735255. 3

22742735256. 4

Question Number : 40 Question Id : 2274279050 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements:

Statement (1) International Solar Alliance’s vision: ‘Let us together make the sun brighter.”.

Statement (Il): International Solar Alliance’s mission: ‘Every home how far away, will have a light at home.
In light of the above statements, choose the most appropriate answer from the options given below.

1. Both Statement (I) and Statement (I) are true.
2. Both Statement (1) and Statement (Il) are false.
3. Statement (1) is true but Statement (1) is false.
4 Statement (1) is false but Statement (Il is true.

Options :

22742735257. 1
22742735258. 2
22742735259. 3
22742735260. 4

Question Number : 40 Question Id : 2274279050 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options:
22742735257. 1
22742735258. 2

22742735259. 3



22742735260. 4

Question Number : 41 Question Id : 2274279051 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

In which of the colleges, the European education was imparted through the medium of mother tongue before independence?

1. Mayo College, Ajmer

2.5t Stephen College, Delhi
3. 5t Xavier College, Calcutta
4 University College, Lahore

Options :

22742735261. 1
22742735262. 2
22742735263. 3
22742735264. 4

Question Number : 41 Question Id : 2274279051 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742735261. 1
22742735262. 2
22742735263. 3
22742735264. 4



Question Number : 42 Question Id : 2274279052 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The policy on higher education during the eighth five-year plan was to encourage

1. Expansion of public sector

2 Involvement of private sector

3. Establishment of foreign campuses
4 Entry of foreign Universities
Options:

22742735265. 1

22742735266. 2

22742735267. 3

22742735268. 4

Question Number : 42 Question Id : 2274279052 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
3Tadl Udauig il & GRH Idar [R1ef Hifd &1 3514 fhd Uiciiad &A1 ui?

1. DRI &4 D1 fawR

2. ol & o Ty

3. el ufal &t =T

4 facah fayfaeadl &1 Uy

Options :

22742735265. 1
22742735266. 2
22742735267. 3

22742735268. 4

Question Number : 43 Question Id : 2274279053 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Which of the following Indian universities were modelled on the lines of University of London?
A_Calcutta

B. Bombay

C. Madras

D. Andhra

E. Mysore

Choose the correct answer from the options given below:

1. A BandC only
2.B,CandD only
3. C,DandE only
4 A BandD only

Options :

22742735269. 1
22742735270. 2
22742735271.3

22742735272. 4

Question Number : 43 Question Id : 2274279053 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742735269. 1
22742735270. 2
22742735271. 3

22742735272. 4

Question Number : 44 Question Id : 2274279054 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Which of the following subjects were taught at the University of Navadwip in ancient India?
A_Archaeology

B. Physics

C. Logic

D. Literature

E. Tantra

Choose the correct answer from the options given below:

1. A, B and C only
2.B, Cand D only
3. C, D and E only
4 A B andE only

Options :

22742735273. 1
22742735274. 2
22742735275. 3

22742735276. 4

Question Number : 44 Question Id : 2274279054 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

227427352731
22742735274. 2
22742735275.3
22742735276. 4

Question Number : 45 Question Id : 2274279055 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements

Statement (I): The rating system of higher educational institutions followed in India does not touch the structural diversity of such institutions.
Statement (Il): A universal and holistic rating system is not feasible in India.

In light of the above statements, choose the most appropriate answer from the options given below.

1. Both Statement (1) and Statement (1) are frue.
2. Both Statement (1) and Statement (1) are false.
3. Statement (1) is true but Statement (1) is false.
4 Statement (1) Is false but Statement (1) s rue.

Options:

22742735277. 1



22742735278. 2
22742735279. 3

22742735280. 4

Question Number : 45 Question Id : 2274279055 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:
22742735277. 1
22742735278. 2
22742735279. 3

22742735280. 4
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Question Label : Comprehension

Read the passage given below and answer the following questions:

India became the first country to land near the Moon's unchartad south pole region at 6.03pm after 18 nail-biting minutes of descent ended in 2
perfact touchdown, offering irefutable evidence of the astronomical abiltties and galactic ambitions of & nation that on Wednesday announced
itself as one of the world's foramost space powers.

Chandrayaan-3s touchdown which completed an extraordinary arc of decades of scientific perseverance also opened new vistas for the
country's space programme in the lucrative markef of space exploration and commerce.

“Indiais on the Moonl” S. Somnath, the chief of Indian Space Research Organization (ISRO) said, as the Chandrayaan-3's lander Vikram, with
the Pragyan rover contained within. made a safe and soft landing on the Moon.

The watershed moment came mera days after Russia - a space veteran - crashed its moon craft while aftempting fo reach the same territory. At
an estimated budget of 575 millon. Chandrayaan-3 was built at a fraction of the cost of not only previous American lunar missions but also this
summer's cinema blockbusters Oppenheimer and Barbie. The Russian Luna-25 had cost $200 million,

“This is a victory cry of a new India," said Prime Minister Narendra Modi, waving the Indian flag s he watched the landing from South Africa.
Beaming scientists and officials burst into applause and hugged each other in joy at ISRQ's mission operations complex at Bengaluru after
Vikram ander finally came to a rest on the rugged lunar terrain after 16 minutes that pushed millions in India on the edge of thelr seats

Sub questions

Question Number : 46 Question Id : 2274279057 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

India became the first country in the world to

1. Land on the moon.

2. Land a man on the moon.

3. Land near the south pole of the moon.
4. Orbit the moon.

Options:

22742735281. 1
22742735282. 2
22742735283.3

22742735284. 4

Question Number : 47 Question Id : 2274279058 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Which of the following represents the estimated cost of building Chandrayaan-37?

_ 200 million dollars

. The same cost as the making of film Barbie

. More than the cost of making film Oppenheimer
. 75 million dollars

[

=

Options :

22742735285. 1
22742735286. 2
22742735287. 3
22742735288. 4

Question Number : 48 Question Id : 2274279059 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

The words 'India is on the moon were spoken by

1. The Indian Prime Minister
2. The Russian President

3. The Chief of ISRO

4 The American President

Options:

22742735289. 1
22742735290. 2
22742735291.3
22742735292. 4

Question Number : 49 Question Id : 2274279060 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 2 Wrong Marks : 0

The success of India’s moon mission is significant because

A_ It will make India a manufacturing hub.

B. It has made India one of world's foremost space powers.

C. It has opened new avenues for India’s space exploration.

D. It has opened new vistas in the lucrative market of space exploration and commerce.
Choose the correct answer from the options given below:

1.B, CandD only
2. A BandC only
3. Cand D only
4 Aand D only

Options :

22742735293, 1
22742735294, 2
22742735295. 3

22742735296. 4

Question Number : 50 Question Id : 2274279061 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements:

Statement (1) Chandrayaan-3's success was a result of years of scientific efforts.

Statement (I1): Russia’s Luna-25 landed on the moon minutes after Chandrayaan-3.

In light of the above statements, choose the most appropriate answer from the options given below.

1. Both Statement (1) and Statement (1) are true.
2 Both Statement (1) and Statement (11) are false.
3. Statement (1) is true but Statement (1) is false.
4 Statement (1) is false but Statement (I1) is true.

Options :



22742735297. 1
22742735298. 2
22742735299. 3

22742735300. 4
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Options :

22742735281. 1
22742735282. 2
22742735283. 3

22742735284. 4

Question Number : 47 Question Id : 2274279058 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742735285. 1
22742735286. 2
22742735287. 3
22742735288. 4

Question Number : 48 Question Id : 2274279059 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742735289. 1
22742735290. 2
22742735291.3

22742735292. 4
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Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742735293, 1
22742735294. 2
22742735295. 3
22742735296. 4
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Options:

22742735297. 1

22742735298 2

22742735299. 3

22742735300. 4
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